
Initial condition setting for application 
circuit simulation

1) Purpose of initial condition setting
2) VCC startup voltage vs. initial condition (.IC) setting
3) Output voltage (19V) startup vs. initial condition (.IC) setting
4) Simulation result with all initial condition (IC) is set
5) Simulation circuit with all initial condition (IC) is set
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1) Purpose of initial condition setting

• Shorten simulation time
• Improve simulation convergence
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2) VCC startup voltage vs. initial condition (.IC) setting 

IC_ON

IC_OFF

IC=139

IC=10.19
(Value less than 

VCCON)

Setup IC to shorten simulation time 50.537ms 

V(VH)

V(C1)

V(VCC)

V(OUT)

3



2) VCC startup voltage vs. initial condition (.IC) setting 
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3)  Output voltage (19V) startup vs. initial condition (.IC) set 
(VCC startup is skipped) 

IC=4.2

Setup IC to shorten simulation time 38ms
(Total job time ≈ 30minute)

TSFT = 1ms

IC=18
(Value less than 

19V) 19V

Total job time ≈ 50min.   
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Vout DC 19V
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3)  Output voltage (19V) startup vs. initial condition (.IC) set 
(VCC startup is skipped) 

IC=4.2

IC=18
(Value less than 

19V)

SSIC=1 
to skip 

TSFT

 Soft start function is canceled by set SSIC=1
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4)  Simulation result with all initial condition (IC) is set

VCC=VSTOFF = 12.4V

19V

Total job time = 20.3min.   

V(VCC)

V(C1)

V(VH)

V(FB)

V(IS)

Vout DC 19V
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5)  Simulation circuit with all initial condition (IC) is set 
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